Decimal to Binary Conversion

Filename: convert

The Problem
You are given a set of decimal integers to convert to binary.

In order to convert from decimal to binary, you first take your original decimal number such as 143, you then find the modulus of 2. This will be your first digit. You then divide the original number by 2 to get the next number for which you will find the modulus of 2 for, getting you your second digit. Continue this trend until your original decimal number divides to zero.

143 % 2  = 1

71  %  2  = 1

35  %  2  = 1

17  % 2   = 1

8    %  2  = 0

4    %  2  = 0

2    %  2  = 0

1    %  2  = 1

0    END!

The final answer in binary is 10001111.

Input File Format
The first line of the input file will contain a single integer n, the number of test cases in the file (0 < n < 100). The following n lines will each contain one positive integer d (in decimal), with 0 < d < 1,000,000,000.

Output Format

For each input case, output a single line with the binary representation of the decimal input value.

Sample Input File

4

64

15

126

4

Sample Output File

1000000

1111

1111110

100

